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10-12.The attenuation of a 1-km length of RG-19/U coaxial cable is about 12 db at 50 MHZ. Suppose the input power to the cable is 10mW and the receiver sensitivity is 1(W. How long can the coaxial cable be under these conditions ? If optical fiber is used instead , with a loss rated at 4db/km ,how long can the transmission line be?

SOL:

  (a) 假設射入的能量10mW到接收感應的能量1(W 所經歷的coaxial cable length為1Km(I=I0(-(L (P2/A=P1/A(-(L 
((db=10*Log10(10-2/10-6)=40db 

所以-(1*L1=--(2*L2(-40*1=-12*L( L=3.33 Km
(b)同理-(1*L1=--(2*L2( -40*1=-4*L( L=10 Km
